
SAP ABAP table SURREFS {Survey: Array references}

SURREFS

CLIENT [CLNT (3)]

Q_ID [NUMC (6)]

QUEST_QCATALOG [NUMC (3)]

QUEST_GROUP [NUMC (2)]

QUEST_ID [NUMC (5)]

QUEST_OCCUR [NUMC (3)]

COMPARE_FLAG [CHAR (1)]

V_IDX [NUMC (3)]

SURAPPLVECTOR

CATEGORY [CHAR (12)]

FIELD [CHAR (30)]

V_IDX [NUMC (3)] SURREFS-V_IDX = SURAPPLVECTOR-V_IDX 0..N

0..N

SURQUESTQEXT

MANDT [CLNT (3)]

Q_ID [NUMC (6)]

QUEST_QCATALOG [NUMC (3)]

QUEST_GROUP [NUMC (2)]

QUEST_ID [NUMC (5)]

QUEST_OCCUR [NUMC (3)]

 SURREFS-Q_ID = SURQUESTQEXT-Q_ID 
0..N0..N

T000

MANDT [CLNT (3)]

 SURREFS-CLIENT = T000-MANDT 

0..N

0..N


